Data was recorded for 8 minutes @ 18Hz.

8658 Points were generated

50 out of range points were found (0.05%)

The full scale output of the gyroscope output is from 0-5 volts centered at 2.5V
 This voltage was scaled down by a resistor network in order to match the analog to digital conversion scale (0-3.3V)
Desired new output to be centered at 1.65V. Real ouput centered at ~1.42
Output is re-centered at using first 100 points of data. No motion was done in this phase. (5 seconds)
[image: image1.emf]0 10 20 30 40 50 60 70 80 90 100

1.4

1.42

1.44

Sensor 1 Thigh

0 10 20 30 40 50 60 70 80 90 100

1.44

1.46

1.48

Sensor 2 Calf

0 10 20 30 40 50 60 70 80 90 100

1.35

1.4

1.45

1.5

Sensor 3 Hip

0 10 20 30 40 50 60 70 80 90 100

1.44

1.45

1.46

1.47

Sensor 4 Foot


[image: image2.emf]0 10 20 30 40 50 60 70 80 90 100

-0.02

-0.01

0

0.01

Sensor 1 Thigh

0 10 20 30 40 50 60 70 80 90 100

-0.02

0

0.02

Sensor 2 Calf

0 10 20 30 40 50 60 70 80 90 100

-0.05

0

0.05

Sensor 3 Hip

0 10 20 30 40 50 60 70 80 90 100

-0.01

0

0.01

Sensor 4 Foot


[image: image3.emf]0 10 20 30 40 50 60 70 80 90 100

-1

0

1

Sensor 1 Thigh

0 10 20 30 40 50 60 70 80 90 100

-1

0

1

Sensor 2 Calf

0 10 20 30 40 50 60 70 80 90 100

-1

0

1

Sensor 3 Hip

0 10 20 30 40 50 60 70 80 90 100

-1

0

1

Sensor 4 Foot


Now if we look at the first minute we can see the output
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Second Minute
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Zooming in to understand walking patterns created
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Gait cycle is 24 points long ~1.3s (2141:2163)
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Initial Contact = 0-4

Loading Response=5 Characterized by start of no motion trend in the foot sensor
Mid-Stance=7 Mid of no motion trend in the foot.
Terminal Stance 14
Pre-Swing 15
Initial Swing 16
Mid Swing

Terminal Swing
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Walking With the knee locked (5856:5885)
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